Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 - Cowal
Valid Votes	3,277
Positions to be Filled	3
Quota	820

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gordon BLAIR	Scottish National Party (SNP)	1,090
Mark FEINMANN	Scottish Labour Party	251
Lachie MACQUARIE	Scottish National Party (SNP)	282
Yvonne MCNEILLY	Scottish Conservative and Unionist	855
Fiona NELSON	Independence for Scotland Party	78
William SINCLAIR	Scottish Liberal Democrats	551
Kenneth WHYTE	Independent	170
	Total	3,277

Candidate Gordon BLAIR Elected with 1,090 votes, being in excess of the quota of 820 Candidate Yvonne MCNEILLY Elected with 855 votes, being in excess of the quota of 820

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Gordon BLAIR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark FEINMANN	45	0.24770	11.14650
Transfer to Lachie MACQUARIE	893	0.24770	221.19610
Transfer to Fiona NELSON	24	0.24770	5.94480
Transfer to William SINCLAIR	50	0.24770	12.38500
Transfer to Kenneth WHYTE	18	0.24770	4.45860
No further preference	60	0.24770	14.86200
Not transferred due to rounding			0.00700
	Total		270.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Yvonne MCNEILLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark FEINMANN	138	0.04093	5.64834
Transfer to Fiona NELSON	26	0.04093	1.06418
Transfer to William SINCLAIR	345	0.04093	14.12085
Transfer to Kenneth WHYTE	119	0.04093	4.87067
No further preference	220	0.04093	9.00460
Not transferred due to rounding			0.00485
	Total		35.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Fiona NELSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark FEINMANN	5	1.00000	5.00000
Transfer to Lachie MACQUARIE	27	1.00000	27.00000
Transfer to William SINCLAIR	9	1.00000	9.00000
Transfer to Kenneth WHYTE	21	1.00000	21.00000
Transfer to Mark FEINMANN	2	0.24770	0.49540
Transfer to Lachie MACQUARIE	8	0.24770	1.98160
Transfer to William SINCLAIR	4	0.24770	0.99080
Transfer to Kenneth WHYTE	2	0.24770	0.49540
Transfer to Mark FEINMANN	2	0.04093	0.08186
Transfer to William SINCLAIR	9	0.04093	0.36837
Transfer to Kenneth WHYTE	11	0.04093	0.45023
No further preference	16	1.00000	16.00000
No further preference	8	0.24770	1.98160
No further preference	4	0.04093	0.16372
Not transferred due to rounding	4	0.04093	0.10372
	Total		85.00898

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Kenneth WHYTE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark FEINMANN	29	1.00000	29.00000
Transfer to Lachie MACQUARIE	32	1.00000	32.00000
Transfer to William SINCLAIR	78	1.00000	78.00000
Transfer to Mark FEINMANN	2	0.24770	0.49540
Transfer to Lachie MACQUARIE	6	0.24770	1.48620
Transfer to William SINCLAIR	4	0.24770	0.99080
Transfer to Mark FEINMANN	17	0.04093	0.69581
Transfer to Lachie MACQUARIE	1	0.04093	0.04093
Transfer to William SINCLAIR	63	0.04093	2.57859
No further preference	52	1.00000	52.00000
No further preference	8	0.24770	1.98160
No further preference	49	0.04093	2.00557
Not transferred due to rounding			0.00000
	Total		201.27490

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Mark FEINMANN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lachie MACQUARIE	24	1.00000	24.00000
Transfer to William SINCLAIR	182	1.00000	182.00000
Transfer to Lachie MACQUARIE	25	0.24770	6.19250
Transfer to William SINCLAIR	7	0.24770	1.73390
Transfer to Lachie MACQUARIE	3	0.04093	0.12279
Transfer to William SINCLAIR	105	0.04093	4.29765
No further preference	79	1.00000	79.00000
No further preference	17	0.24770	4.21090
No further preference	49	0.04093	2.00557
Not transferred due to rounding			0.00000
	Total		303.56331